Subject: Re: One RETALL is not enough
Posted by David Fanning on Wed, 31 Oct 2012 11:42:04 GMT

View Forum Message <> Reply to Message

Gordon Farquharson writes:
> | find that | need two exits to exit IDL when | am using DLMs.

| got stuck in another funk doing some object programming
yesterday, and had a chance to try the four RETALL
trick. | believe it actually did help!

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Sepore ma de ni thue. ("Perhaps thos speakest truth.")
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